Grade 3: Classification of animals based on their food habits Handout 3

A man has to get a fox, a chicken, and a sack of corn across a river.

He has a rowboat, and it can only carry him and one other thing.

If the fox and the chicken are left together, the fox will eat the chicken.
If the chicken and the corn are left together, the chicken will eat the corn.

How does the man do it?
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The Solution (hints for the teacher):

1. The man and the chicken cross the river, (the fox and corn are safe together). He leaves the chicken
on the other side and goes back across.

2. The man then takes the fox across the river, and since he can't leave the fox and chicken together, he
brings the chicken back.

3. Again, since the chicken and corn can't be left together, he leaves the chicken and he takes the corn
across and leaves it with the fox.

4. He then returns to pick up the chicken and heads across the river one last time.

Puzzle supplied by Richard Rider
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